	2022-23 Custodial Supplies Opened Th	ursday, May 26, 20	North A	American	ProSource	Distributors	Wareho	use Direct	Standard (Companies			
ITEM NO.	ITEM DESCRIPTION	PACK	TOTAL	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price		
1	Bathroom Tissue Brand: NPS Corp or Equal ID# 12325 (sample must be included with bid)	96/case 80/ Per Case	400 cases 480	\$32.40	\$0.00 \$15,552.00	\$33.99	\$13,596.00		\$38.45 \$15,380.00 Boardwalk BWI6149		\$18,020.00		
2	Can Liners, Polyethylene: .70 mil 43 x 48, 2 ply, 55 gallon capacity Brand: ID#	100/case	240 cases		\$0.00		\$3,160.80 onial 348HV		\$14.60 \$3,504.00 Warehouse Direct WHDCXB141		\$4,092.00 onial 47HS		
3	Can Liners, Polyethylene: .9 mil 30 x 36; 20-30 gallon capacity Brand: ID#	250/case	120 cases		\$0.00		\$2,524.80 onial D36XB		\$23.89 \$2,866.80 Warehouse Direct WHDDHS53036XB		arehouse Direct Colo		\$3,348.00 onial :036XB
4	Disenfectant Spray 15 oz can Brand: ID#	12/case	50 cases		\$0.00	\$47.99 Chase 0427/Linen	\$2,399.50 0425/Citrus	\$59.99 \$2,999.50 Diversey DVO04832		\$39.75 \$1,987. ZEP ZPP1050017			
5	Disenfectant Multi Cleaner Brand: P&G Spic-n-Span ID# 32535 (no substitute)	2/case	40 cases	\$88.75	\$3,550.00	\$61.38	\$2,455.20	\$120.63 PGC	\$4,825.20 32538		\$0.00		
6	Disinfectant Wipes: 70/container 12 per case (840 total wipes) 100/container	12/case	40 cases		\$0.00	\$16.95	\$678.00	\$52.27 BWK45	\$2,090.80 4W753CT		\$2,426.00 /cnt, 12/cs /753CT		
7	Floor Conditioner & Neutralizer Brand: Stearns - (no substitute) ID#ST729 1 oz packs	72/case box	8 cases		\$0.00	\$32.34	\$258.72	\$32.41 STN729	\$259.28	\$64.50	\$516.00		
8	Floor Finish Brand: Johnson's Wax Vectra (no substitutes)	5 gallon	325 gallons	\$14.08	\$4,576.00		\$0.00	\$20.79 DVS5	\$6,756.75 705047	\$21.15 510	\$6,873.75 5047		
9	Floor Finish Brand: Johnson's Wax Plaza (no substitutes)	5 gallon	50 gallons		\$0.00		\$0.00	\$21.99 DVS55	\$1,099.50 \$104933	\$30.09 510	\$1,504.50 4933		
10	Floor Pads, Strip Surface Prep - MAROON - 14"x20" Brand: 3M (no substitute) - ID# 51111 025901	10/case	20 cases	\$126.68	\$2,533.60	\$185.32	\$3,706.40	\$130.80 MMN	\$2,616.00 //02590	\$164.40 51111	\$3,288.00 025906		

	2022-23 Custodial Supplies Opened Thursday, May 26, 2022 2 PM		Foredom	oredom Packaging UniPak		Inter	boro	Ramrod I	Distributors	Valde	s Supply	Chemcraft Industries		Centr	al Poly	S	taples		
ITEM NO.	ITEM DESCRIPTION	PACK	TOTAL	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	Bathroom Tissue Brand: NPS Corp or Equal ID# 12325 (sample must be included with bid)	96/case 80/ Per Case	400 cases 480		\$0.00		\$0.00		\$0.00	\$36.75	\$14,700.00		\$14,744.00 dford	Nittai	\$15,400.00 ny Paper		\$17,196.00 e - #235		\$18,836.00 le Professional V26212
2	Can Liners, Polyethylene: .70 mil 43 x 48, 2 ply, 55 gallon capacity Brand: ID#	100/case	240 cases	\$25.10	\$6,024.00	Ū	\$2,808.00 PC 8 HV	INT-434	\$3,955.20 8-Heavy /Glopak	\$18.50	\$4,440.00	- 55	\$0.00	\$14.10 Colo	\$3,384.00 nial Bag 47H100	\$22.00 Centr	\$5,280.00 al Poly 348H		\$4,300.80 le Professional 05 - 200/case
3	Can Liners, Polyethylene: .9 mil 30 x 36; 20-30 gallon capacity Brand: ID#	250/case	120 cases	\$27.40	\$3,288.00	U	\$2,004.00 PC 9.00	\$18.82 INT-303 Pitt/IBS		\$25.75	\$3,090.00		\$0.00		\$2,772.00 nial Bag 3036XB		\$2,760.00 al Poly 036H		\$4,948.80 Te Professional D-CC, 200/ case
4	Disenfectant Spray 15 oz can Brand: ID#	12/case	50 cases		\$0.00		\$0.00		\$0.00	\$42.00	\$2,100.00		\$1,500.00 aire 02 17 oz		\$2,014.00 SSS 1001		\$0.00	\$33.75 Brightor	\$1,687.50 n Professional
5	Disenfectant Multi Cleaner Brand: P&G Spic-n-Span ID# 32535 (no substitute)	2/case	40 cases		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	\$103.00	\$4,120.00		\$0.00	\$119.99	\$4,799.60
6	Disinfectant Wipes: 70/container 12 per case (840 total wipes) 100/container	12/case	40 cases		\$0.00		\$0.00		\$0.00	\$20.00	\$800.00		\$982.80 pes 6/case eets/tub	\$50.00 BWK44	\$2,000.00 SSW753CT		\$0.00		\$1,912.80 c - 6/case 66664CT
7	Floor Conditioner & Neutralizer Brand: Stearns - (no substitute) ID#ST729 1 oz packs	72/case box	8 cases		\$0.00		\$0.00		\$0.00	\$35.00	\$280.00		\$0.00	\$34.00	\$272.00		\$0.00		\$0.00
8	Floor Finish Brand: Johnson's Wax Vectra (no substitutes)	5 gallon	325 gallons		\$0.00		\$0.00		\$0.00	\$12.69	\$4,124.25		\$0.00		\$0.00		\$0.00	\$88.99 Vect ra	\$28,921.75 a - 5105047
9	Floor Finish Brand: Johnson's Wax Plaza (no substitutes)	5 gallon	50 gallons		\$0.00		\$0.00		\$0.00	\$37.00	\$1,850.00		\$0.00		\$0.00		\$0.00	\$122.04 Diversey I	\$6,102.00 Plaza - 5104933
10	Floor Pads, Strip Surface Prep - MAROON - 14"x20" Brand: 3M (no substitute) - ID# 51111 025901	10/case	20 cases		\$0.00		\$0.00		\$0.00	\$124.00	\$2,480.00		\$0.00	\$114.00	\$2,280.00		\$0.00		\$0.00

	2022-23 Custodial Supplies Opened The	ursday. May 26, 20	North American		ProSource	Distributors	Warehou	use Direct	Standard Companies		
ITEM	ITEM DESCRIPTION	PACK	TOTAL	Limit Drice	Total Price	Unit Price	Total Price	Limit Drice	Total Price	Unit Price	Total Price
NO.		FACK	TOTAL	Onit Price	Total Frice	Unit Price	Total Frice	Unit Price	Total Frice	Unit Price	TOTAL FILLE
11	Floor Pads, Strip Surface Prep - MAROON - 20" Brand: 3M (no substitute)	10/case	40 cases	\$88.93 \$3,557.20		\$144.90	\$5,796.00	\$91.90 \$3,676.00 MMMSPP20			\$4,624.00 P20 102195
12	Gloves, Vinyl, Disposable, without powder	100 gloves/box									
	Hospital Grade, Large	10 boxes/case	30 cases		\$0.00	\$31.60	\$948.00		\$41.40 \$1,242.00 Safety Zone SFTGVEPLG1C		\$0.00
13	Gloves, Vinyl, Disposable, without powder	100 gloves/box									
	Hospital Grade, EX-Large	10 boxes/case	30 cases		\$0.00	\$36.60	\$1,098.00	\$41.40 \$1,242.00 Safety Zone SFTGVEPXL1C			\$0.00
14	Mop Bucket, 44 qt with Ringer Brand: Marino ID: MA 1232-40G	each	12 each		\$0.00	\$249.65	\$2,995.80	\$142.62 \$1,711.44 RCPFG758088YEL			\$0.00
15	Pencil Sharpeners										
	Brand: KS or equal ID# 1031	each	72 each		\$0.00		\$0.00	\$10.31 \$742.32 X-ACTO EPI103ILMR			\$0.00
16	Polish, Lemon Furniture Brand: ID#	12 tube/case	12 cases		\$0.00	\$31.56	\$378.72		\$0.00		\$0.00
17	Roll Towels SAMPLE MUST BE INCLUDED WITH BID	Six									
	Brand: NPS or equal ID# 30700	8"x 800' rolls /case	300 cases	\$22.67	\$6,801.00	\$19.25	\$5,775.00		\$6,477.00 dwalk (6256	\$25.20	\$7,560.00
18	Roll Towel 8" Dispenser - White Brand: Palmer (no substitute) ID# 56201	each	4 each		\$0.00	\$70.35	\$281.40	\$59.59	\$238.36 62010		\$0.00
19	Sanitizer, Foaming Hand, BAG for wall-mount dispenser Brand: ProSource (no substitute) ID# PDI9705	1,000 ml, 33.8 oz 6/case	160 cases		\$0.00	\$44.99	\$7,198.40	\$60.08 ProSource 6585	\$9,612.80 Inpac M3PB		\$0.00
20	Sanitary Napkin Disposal Kraft Bags - 11x7x3-1/2 Wax Brand: ID#	500/case	6 cases		\$106.62 speco x10.5x3		\$141.84 pact Sanisac	\$18.18	\$109.08 peco		\$0.00

		Foredom Packaging	UniPak	Interboro	Ramrod [Distributors	Valdes Supply	Chemcraf	t Industries	Centra	l Poly	S	taples		
	2022-23 Custodial Supplies Opened The	ursday, May 26, 20	22 2 PM												
ITEM NO.	ITEM DESCRIPTION	PACK	TOTAL	Unit Price Total Price	Unit Price Total Price	Unit Price Total Price	Unit Price	Total Price	Unit Price Total Pri	e Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
11	Floor Pads, Strip Surface Prep - MAROON - 20" Brand: 3M (no substitute)	10/case	40 cases	\$0.00	\$0.00	\$0.00	\$87.25	\$3,490.00	\$0.00	\$80.00	\$3,200.00		\$0.00		\$0.00
12	Gloves, Vinyl, Disposable, without powder Hospital Grade, Large	100 gloves/box 10 boxes/case	30 cases	\$0.00	\$0.00	\$29.75 \$892.50 Med Pride/Safeko Lrg-VPFG-E	\$33.00	\$990.00	\$45.00 \$1,350.0		\$1,170.00 speco		\$0.00		\$1,199.70 200 - 1000/case L G200
	Gloves, Vinyl, Disposable, without powder Hospital Grade, EX-Large	100 gloves/box 10 boxes/case	30 cases	\$0.00	\$0.00	\$29.75 \$892.50 Med Pride/Safeko XL-VPFG-E	\$33.00	\$990.00	\$45.00 \$1,350.0		\$1,170.00 speco		\$0.00		\$1,199.70 200 - 1000/case XL200
14	Mop Bucket, 44 qt with Ringer Brand: Marino ID: MA 1232-40G	each	12 each	\$0.00	\$0.00	\$0.00	\$80.00	\$960.00	\$0.00		\$0.00		\$0.00		\$2,399.88 aid WaveBrake 618688YL-1
15	Pencil Sharpeners Brand: KS or equal ID# 1031	each	72 each	\$0.00	\$0.00	\$0.00	\$17.00	\$1,224.00	\$0.00	\$17.98	\$1,294.56		\$0.00	\$9.99 X-AC	\$719.28 TO - 1031
16	Polish, Lemon Furniture Brand: ID#	12 tube/case	12 cases	\$0.00	\$0.00	\$0.00	\$43.00	\$516.00	\$0.00	\$39.75 \$\$\$:	\$39.75 \$477.00 \$\$\$21151		\$0.00	\$35.60 \$427.20 Coastwide Professional CW8512-A, 6/case	
17	Roll Towels SAMPLE MUST BE INCLUDED WITH BID Brand: NPS or equal ID# 30700	Six 8"x 800' rolls /case	300 cases	\$0.00	\$0.00	\$0.00	\$22.50	\$6,750.00	\$19.95 \$5,985.0 Bedford HWTK503	Nittan	\$6,930.00 ny Paper 8800EN	\$25.33 Mar P 72			\$0.00
18	Roll Towel 8" Dispenser - White Brand: Palmer (no substitute) ID# 56201	each	4 each	\$0.00	\$0.00	\$0.00	\$54.00	\$216.00	\$0.00		\$0.00		\$0.00		\$0.00
19	Sanitizer, Foaming Hand, BAG for wall-mount dispenser Brand: ProSource (no substitute) ID# PDI9705	1,000 ml, 33.8 oz 6/case	160 cases	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00		\$0.00		\$0.00
20	Sanitary Napkin Disposal Kraft Bags - 11x7x3-1/2 Wax Brand: ID#	500/case	6 cases	\$0.00	\$0.00	\$0.00	\$19.00	\$114.00	\$0.00		\$115.20 speco		\$0.00	\$25.49 Recep	\$152.94 tacle Liners

	2022-23 Custodial Supplies Opened 1	North American		ProSource	Distributors	Wareho	use Direct	Standard Companies			
ITEM NO.	ITEM DESCRIPTION	PACK	TOTAL	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
21	Soap, Hand, Bag, foaming Brand: Pro Clear (no substitute) ID#PDI-0805	1,000 ml/bag 6 bags/case	160 cases		\$0.00	\$21.00	\$3,360.00	\$25.00 Pro Clean PD1	\$4,000.00 Inpac -0805		\$0.00
22	Sponges, Scrubbing Brand: 3M Scotch-Brite (no substitute) ID# 74	20/case	20 cases	\$13.53	\$270.60	\$54.00	\$1,080.00	\$33.72 \$674.40 MMM74		\$54.05	\$1,081.00
23	Sponges, MAGIC ERASER Brand: Proctor & Gamble MR. CLEAN (NO SUBSTITUTE) ID# PGc82038	4 pads/box 6 boxes/case	40 cases		\$0.00	\$54.84	\$2,193.60	\$42.05 \$1,682.00 PGC82038CT			\$0.00
24	Stainless Steel Cleaner/Polish Wipes Brand: ID#	40/tub 6 tubs/case 240/case	30 cases		\$0.00		\$2,176.50 .abs 1549 6 cntr/case	\$43.40 Weiman	\$1,302.00		\$0.00
25	Tissue, facial, 2 ply Brand: ID#	100/box 30 boxes/case	260 cases	_	\$5,673.20 a Pacific n - 47410		\$4,227.60 press 01002	-	\$6,247.80 EN 16501		\$7,293.00 PS 000
26	Urinal Screens with block Non-Para Brand: ID#	12/case	45 cases		\$0.00	\$14.43 Im	\$649.35 pact	\$20.51 \$922.95 Boardwalk BWKNUS			\$0.00
27	Waste Cans, Large Brand: United ID#2039	each	24 cases		\$0.00		\$0.00		\$878.64 ermaid 65300GY		\$0.00
28	White Board Cleaner Brand: ID#	1 gal container 4 gal/case	20 cases		\$0.00		\$0.00		\$453.60 al Price SAN81800		\$3,290.00 d/ 81800 se price
	Vendor Totals	•	•	-	\$377.22		\$40.034.99		\$2,401.50		

		Foredom Packaging	UniPak	Interboro	Ramrod D	istributors	Valdes Supply	Chemcra	ft Industries	Central	Poly	Staples			
	2022-23 Custodial Supplies Opened Th	ursday, May 26, 20	22 2 PM												
ITEM NO.	ITEM DESCRIPTION	PACK	TOTAL	Unit Price Total Price	Unit Price Total Price	Unit Price Total Price	Unit Price	Total Price	Unit Price Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
21	Soap, Hand, Bag, foaming Brand: Pro Clear (no substitute) ID#PDI-0805	1,000 ml/bag 6 bags/case	160 cases	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00		\$0.00		\$0.00
22	Sponges, Scrubbing Brand: 3M Scotch-Brite (no substitute) ID# 74	20/case	20 cases	\$0.00	\$0.00	\$0.00	\$39.00	\$780.00	\$0.00	\$29.95	\$599.00		\$0.00	\$44.14	\$882.80
23	Sponges, MAGIC ERASER Brand: Proctor & Gamble MR. CLEAN (NO SUBSTITUTE) ID# PGc82038	4 pads/box 6 boxes/case	40 cases	\$0.00	\$0.00	\$0.00	\$41.50	\$1,660.00	\$0.00	\$38.32	\$1,532.80		\$0.00		\$0.00
24	Stainless Steel Cleaner/Polish Wipes Brand: ID#	40/tub 6 tubs/case 240/case	30 cases	\$0.00	\$0.00	\$0.00	\$58.95	\$1,768.50	\$0.00		\$1,855.50 - 21105 :/cnt, 6/case		\$0.00		\$0.00
25	Tissue, facial, 2 ply Brand: ID#	100/box 30 boxes/case	260 cases	\$0.00	\$0.00	\$0.00	\$15.00	\$3,900.00	\$19.05 \$4,953.00 Tork TF6710	Nitta	\$5,707.00 ny Paper -5701	\$18.77 Central 293	Poly		\$0.00
26	Urinal Screens with block Non-Para Brand: ID#	12/case	45 cases	\$0.00	\$0.00	\$0.00	\$17.25	\$776.25	\$0.00	\$16.60 SSS	\$747.00 - 83002		\$0.00		\$932.85 Professional R28610
27	Waste Cans, Large Brand: United ID#2039	each	24 cases	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00		\$0.00		\$191.76 e Professional price per each
28	White Board Cleaner Brand: ID#	1 gal container 4 gal/case	20 cases	\$0.00	\$0.00	\$0.00		\$580.00 al Price	\$0.00	E	\$2,860.00 XPO I 81800		\$0.00		\$1,599.20 iteboard Care er case price
	Vendor Totals					\$1,785.00		\$9,200.25	\$1,500.00		\$7,012.80				\$2,510.24
									<u> </u>			G	irand Total		\$64,822.00